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g sz K4 X#4| GR HC | Net | XR[EHC B
BE: |ER =i | hE | 44 | 145 | 295 10.5
#EB &Ra) B (EE| 37 I 30 6
3 | =8 | )EEF| 38 6.5 | 31.5
48 |iEA VAH LwK| 40 15 | 325
Sfi |A+ Kk |)EEF| 36 3 33 RUOE
6 |=T A=TH L#AK| 39 55 | 33.5 THERRJOE
761 || EB | KH & 42 85 | 335
8t |5H BxR | hE | 34 0 34
Ofi |M& WK | FE | 32 | -25 | 345 BHARRIOE
10z |#8iF #BA | RE | 40 45 | 355 RUOE
1Mz MR & |/EE| 40 4 36
12z |84 & |[/EE| 42 6 36
1362 (JIIA E/\B|/MEE| 45 9 36
1441 (&G #1F |/MEE| 46 10 36
1562 (£ & | FREnd| 46 10 36 RUE
166 (#ll #£X | K & | 37 05 | 36.5
1760 |RF ¥ |/EE| 37 05 | 36.5
186 |[/MR =87 /EHE| 42 55 | 36.5
19 /@ BX [/EE| 44 15 | 36.5
2061 |@Rig BAZR |/NEHEF| 42 45 | 375 RUOE
2161 |BK =A |EE| 4 3 38
2241 (%A F— | LK 41 2 39
2361 [E#k & | FEGTL| 41 2 39
2461 (=& & | NEHE| 42 3 39
2561 (=& fx | /MEE| 44 5 39 RUOE
266 |RE —17 |/EHE| 50 85 | 415
2741 |HiE <UA LWK| 49 7 42 BBE
2841 |k =B | FE | 50 6 44
29fs [Pk HEE | hE | 51 4 47
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